SECTION 20



[Revised: 30 September 1988]

LOCAL GEODETIC SYSTEM-TO-WGS 84
DATUM TRANSFORMATION MULTIPLE REGRESSION EQUATIONS (A¢, AX, AH)

FOR REMAINDER OF 83 LOCAL GEODETIC SYSTEMS*

* EXCEPT FOR EUROPEAN DATUM 1979 (SINCE IT DOES NOT REPLACE ED 50). CONSTANT OR
AVERAGE A¢, AX, AMH VALUES ARE GIVEN IN TABLE 20.46 FOR THOSE LOCAL GEODETIC
SYSTEMS HAVING ONLY THE SMALL NUMBER OF COLOCATED DOPPLER AND LOCAL GEODETIC
SYSTEM STATIONS INDICATED (1, 2, or 3). ALSO, SEE TABLE 7.1. THE EQUATION
PORTION OF THE FOOTNOTE TO PAGE 19-1 ALSO APPLIES HERE (SECTION 20).
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SECTION 21






HISTOGRAMS

- WGS 84 COORDINATE DIFFERENCES* (MAJOR DATUMS) -

* WGS 84 COORDINATES OBTAINED FROM DOPPLER-DERIVED NSWC 9Z-2 COORDINATES
USING NSWC 9Z-2 TO WGS 84 TRANSFORMATION MINUS WGS 84 COORDINATES
COMPUTED USING LOCAL GEODETIC SYSTEM-TO-WGS 84 DATUM TRANSFORMATION
MULTIPLE REGRESSION EQUATIONS (SECTION 19); UNITS = METERS
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Figure 21.1a. NAD 27 (CONUS)-Geodetic Latitude Differences*
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Figure 21.1b. NAD 27 (CONUS)-Geodetic Longitude Differences ™
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Figure 21.1c. NAD 27 (CONUS)-Geodetic Height Differences*
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- *Differences = WGS 84 Coordinates Obtained From Doppler - Derived
NSWC 9Z-2 Coordinates Minus WGS 84 Coordinates Computed Using
NAD 27 (CONUS)-to-WGS 84 Datum Transformation Multiple Regression

Equations.
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Figure 21.2a. SAD 69-Geodetic Latitude Differences™
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Figure 21.2b. SAD 69-Geodetic Longitude Differences™
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Figure 21.2c. SAD 69-Geodetic Height Differences™

*Differences = WGS 84 Coordinates Obtained From Doppler - Derived
NSWC 9Z-2 Coordinates Minus WGS 84 Coordinates Computed Using
SAD 69-to-WGS 84 Datum Transformation Multiple Regression
Equations.
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ED 50 (Western Europe)-Geodetic Latitude Differences*
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Figure 21.3b. ED 50 (Western Europe)-Geodetic Longitude Differences*
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Figure 21.3c. ED 50 (Western Europe)-Geodetic Height Differences *

*Differences = WGS 84 Coordinates Obtained From Doppler - Derived
NSWC 9Z-2 Coordinates Minus WGS 84 Coordinates Computed Using

ED 50 (Western Europe)-to-WGS 84 Datum Transformation Multiple

Regression Equations.
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Figure 21.4a. ED 50 (UK/Ireland)-Geodetic Latitude Differences*
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Figure 21.4b. ED 50 (UK/Ireland)-Geodetic Longitude Differences *
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Figure 21.4c. ED 50 (UK/Ireland)-Geodetic Height Differences*

*Differences = WGS 84 Coordinates Obtained From Doppler - Derived
NSWC 9Z-2 Coordinates Minus WGS 84 Coordinates Computed Using
ED 50 (UK/Ireland)-to-WGS 84 Datum Transformation Multiple

Regression Equations.
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Figure 21.5a. ED 50 (UK Only)-Geodetic Latitude Differences ™
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Figure 21.5b. ED 50 (UK Only)-Geodetic Longitude Differences*
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Figure 21.5c. ED 50 (UK Only)-Geodetic Height Differences ™

“Differences = WGS 84 Coordinates Obtained From Doppler - Derived
NSWC 9Z-2 Coordinates Minus WGS 84 Coordinates Computed Using
ED 50 (UK Only)-to-WGS 84 Datum Transformation Muitiple Regression

Equations.

21-6



6 1
)
g 47
>
o
g 5] I ’ r
[V
0' ~ T T Y T T [_1 T T T T T ljl
-8 -6 -4 -2 0 2 4 6 8 10 12 14 16 m
Figure 21.6a. TD-Geodetic Latitude Differences*
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Figure 21.6b. TD-Geodetic Longitude Differences™
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Figure 21.6¢c. TD-Geodetic Height Differences™

“Differences = WGS 84 Coordinates Obtained From Doppler - Derived
NSWC 9Z-2 Coordinates Minus WGS 84 Coordinates Computed Using
TD-to-WGS 84 Datum Transformation Multiple Regression Equations.
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Figure 21.7a. AGD 66 -Geodetic Latitude Differences*
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Figure 21.7b. AGD 66 -Geodetic Longitude Differences*
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Figure 21.7c. AGD 66-Geodetic Height Differences*

1

*Differences = WGS 84 Coordinates Obtained From Doppler - Derived
NSWC 9Z-2 Coordinates Minus WGS 84 Coordinates Computed Using
AGD 66-to-WGS 84 Datum Transformation Multiple Regression
Equations.
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Figure 21.8a. AGD 84-Geodetic Latitude Differences *
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Figure 21.8b.

AGD 84 - Geodetic Longitude Differences*
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Figure 21.8c. AGD 84-Geodetic Height Differences™

“Differences = WGS 84 Coordinates Obtained From Doppler - Derived
NSWC 9Z-2 Coordinates Minus WGS 84 Coordinates Computed Using
AGD 84-to-WGS 84 Datum Transformation Multiple Regression

Equations.
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